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~2.1 (¢�<�6Ä�.)

ÏLé¢�<�6Ä�cÝN�§uyzcà~Ø¬

�20%£Ø¢	§
¢	Ø¬�10%6\à~.bX¢�o<��

±ØC§¿�<�6Ä�ù«ª³UYe�§@o�ª¢	<�

�à~<��©Ù´Ä¬ªu��/­½G�0º

�<�oê�m§N�Ð©¢	<��x0§à~<��y0§

�c�§Kx0 + y0 = m§�

¢	<� x1 = 0.9x0 + 0.2y0; à~<� y1 = 0.1x0 + 0.8y0.

^Ý
L«Ò´µ(
x1

y1

)
=

(
0.9 0.2

0.1 0.8

) (
x0

y0

)
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(
xn

yn

)
=

(
2
3 + 1

3(0.7)
n 2

3 −
2
3(0.7)

n

1
3 −

1
3(0.7)

n 1
3 + 2

3(0.7)
n

)(
x0

y0

)
(
xn

yn

)
=

(
2
3m+ 1

3(x0 − 2y0)(0.7)
n

1
3m−

1
3(x0 − 2y0)(0.7)

n

)

=§

{
xn = 2

3m+ 1
3(x0 − 2y0)(0.7)

n

yn = 1
3m−

1
3(x0 − 2y0)(0.7)

n
§


 lim
n→∞

(0.7)n = 0§

¤±§eZc�§¢	<�­½3o<��2
3§à~<�­

½3o<��1
3 .

=§3<�6ÄG�ØC��¹e§�X�m�í£§à~

<�Ú¢	<�§òªu��­½�G�.
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Thank you!
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